BEESET

FEMZEDIRERNRE

THITEE

P = I

4 THIEEEBEEL - ZERREFMENELRIRE - 555



FEMERER

e SHIEERREL  ZEBRELHENBLRRIAE - REHEH

REK)

[#=2 GEERR)

£ ¥R HE &% 2E
BRI
1 7,773, 586
BHEE 3]
1 1,773,586
BHEE 3]

1 7,773,586

FHEER FTE#E 1.00=
1 448, 100

R E HmEfERm] 1.002 1 7. $%hEBFHE 1,002 14 7, A2 1.002 14 7, $hE5HE2 1.0021 7.
ES 1,379, 880 BREMEMS 1.00% 4 7, MEFHHES 1.0052 17

BERE ERMERL 1.00E, OX MEBO#®E 1.00HE8 (5¥—X)
1 668, 700

BLHERAE R EZ0IE 1.00IEE (F—R) . ERINERE 2.000B8 (¥—R) . 7Y 25 HE 3. 00&Fr.
1= 4,027,650 HEDHET 3.00IBE (F—R) . EHEDEFHE 4.00IEE (F—R) . EREHESH 1.00EE (5F—X) .

EEN - EEMHROEE 1.00E (5F—X)

R FEEMR 1,00
1 471, 350

HERE ERiHE 1.00E., SREEHKRE 1.00E. Z#EFHKS 1.00[H
1 457, 000

BE BE 1.00
1 159, 950

EERE EXARE 1.00X. XHEESR 1.00=x
1 160, 956




FE M (FERE R

e SHIEERREL  ZEBRELHENBLRRIAE - REHEH

(=3 (GEREEH) |

A5 HE &4 2E
B IR
1= 1,713,586
EEAGE
1= 7,612, 630
Ei#ERE
1= 160, 956
Z O i JR it
1= 4,099, 401
FE 75 R
1= 11,872,987
—REBREF
1= 6,387,013
FE AL
1= 18, 260, 000
FELEME
1= 18, 260, 000




